BSEH Practice Paper 4(2023-24)
CLASS:10" (Secondary) Code:D

RollNo. [T T T T T T

0T (3TTER)

MATHEMATICS(BASIC)

[Time Allowed :3 hours] [Maximum Marks:80]

® FHUIT ST Y of fob 3§ WRA-TF H Hfod go5 21 T
g7 38 § |

® Please make sure that the printed pages in this question paper are
21 in number and it contains 38 questions.

® YA-UF & Gl 3N BT 91T A3 daW &l SF IRl k-
giEds & Tgel Js W fo@r Sirr =mgv |

® The code No.on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o Rl URe &I 3R &l YE Fled F Ugel 3TN hATh
forg=r grem |

® Before beginning to answer a question, its Serial Number must be
written.

3T 3T gRedE # @l 75/ 56 7 oS |

Don’t leave blank page/pages in your answer-book.

® I-GIEAHT & HTARFT g 3= e AL & ST |
IHA: MERISFATER & fold T forg@r 3ox o FIe |

® Except answer-book, no extra sheet will be given.Write to the
point and do not strike the written answer.

® T TAT AT Ao TA-UF U 379 o |
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® Candidates must write their Roll Number on the question paper.

® FUIT YAl I 3R ST ¥ Ugel Ig FlARTT T of T
WeT-9F qUT @ HEl g, 98T & 3Wid 38 §a¢ H s o
graT TAIPR el ThAT ST |

® Before answering the questions,ensure that you have been supplied
the correct and complete question paper,no claim in this
regard,will be entertained after examination.

AT fAder:
1. A MAITHSTE &, T, 7T, T IR 5l

2. @U8 -F H 1 T 20 doh TH -Uah 3{h & 9T gl1 & 18 dah
Tgiaehedia(MCQs), U s 3089, ReFd ¥1T gfd AT /3rcT T
JAaT 92T I&Ar 19 3R 20 FfAFya-de  ImaTRd 9T &

3. @us-@ H 21 @ 25 d& 3fd o 3AA(VSA) JHR & ar-ar
3R o T & |

4. @US-r # 26 {31 dh o - IS A) YR & et e
3R o T & |

5. @Us-g #H 32 &35 d& oY - 3A0A(LA) YRR & 99T 37
& g & |

6. @3- § H YT T&AT 36 ¥ 38 d& ThUT 31eTAT 3R IR -
IR AR b IRA g | T—¥d YRUT 3ETIT H HTdRe Thed
XA A FURTH I AT E |
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7. Y ueaT 3Oy & g, @us-@ & 2 YAl A, @US-T & 2
AT H, @US-H Hh 2 YAl H§ dT WS- & 3 YA H AR
Qeeq &1 yraarsT  fam ram gl

General Instructions:
1. There are S sections A, B, C, D and E in this question paper.

2. Section — A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions (MCQs),One Word Answer,Fill in the blank, True/False and
question numbers 19 and 20 are Assertion-Reasoning based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two
marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each
from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each
from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based questions of
four marks each. Internal choice is given in each case study question of two
marks each.

7. All questions are compulsory. However, provision of internal choice has been
made in 2 questions of Section-B, 2 questions of Section-C, 2 questions of
Section-D and 3 questions of Section-E.

gus-F
SECTION-A

GUs-F H 1 3F & 20 g gl

Section A consists of 20 questions of 1 mark each.
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1.47¢ ar e=llcA® quiteh p 3R q A p= ab® 3 g=a’ b & & &
cad fRar ST ThdT §;

a, b 33e TEaw §, dar LCM(p, q) &
(a) ab (b) a’b? (c)a’b? (d) a’b’
1.If two positive integers p and ¢ can be expressed as p=ab> andgq=a’b;

a, b being prime numbers, then LCM(p, q) is :
(a) ab (b) a?b? (c) a’b? (d) a’b?

2. afg LCM(91,26)=182. @& HCF(91,26) &

(a)13 (b)26 ()18 (d)9
2. Given that LCM(91,26)=182.Then HCF(91,26) is:
@13 ()26  (©18  (d)9

3. F=afaf@a & 3 la O ve 3aReET gEar A8 82
@v2 (b)) V3  (c)V4 (d)V5

3.Which of the following is not an irrational number?

@V2 (b)) V3  (c)V4 (A5

43¢ o AR B, 5x°-x+4 & Yo §, Al of & AT g

()t (b) © 3 @

als
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4.If o and B are the zeroes of 5x2 — x + 4, then the value of is:

1 5

@ i ©; (@3

5.l & & fhg GaieRor &1 7ol 2 87
(a)x>-4x+5=0 (b)x*+3x -12=0
(€)2x2-7x+6=0 (d)3x* 6x- 2= 0
5.Which of the following equations has 2 as a root?

(a)x?-4x+5=0 (b)x?+3x -12=0
(¢)2x2-7x+6=0 (d)3x%- 6x-2=0

6. 39 AP T 18dTl 9g Jar3it fode ugel g ug -6 31w 1 &
(a)113 (b) 112 (c) 110 (d)107

6.The 18" term of the AP whose first two terms are -6 and 1 is:

@113 () 112 () 110 (d)107

7.fd4g P(2,3) %1 qo1 Tdg @ g0 &
(a)13 (b)V13 (c)V5 (d)V7

7.The distance of the point P(2,3) from the origin is :

@13 (W13  (c)V5 (d)V7
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8.3mhfd DE BC #, fY EC=

(@) bcm (b) 2cm (c) 4cm (d)8cm
A
1.5 y 1cm
€ D E >
3cm I
B C

8.In Figure DE  BC.Then EC =

(@) 6cm (b) 2cm (c) 4cm (d)8cm

9.f¢T a7 7 A, AB, O R Hfegd g & v TURW g1 I
OA=6cm 3R OAB=30°%, dl g & s &:

(a)3cm (b)3v3 (c)2cm (d) V3

9. In the given figure, AB is a tangent to a circle centred at O. If OA=6cm and
OAB = 30°, then the radius of the circle is:

(a)3cm (b)3V3 (c)2cm (d) 3
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10. 3 QAT AT arel g & g @ SHAT H gl W & v+ foig A @
W%TW@WXW%IHTXWW 3

10. The length of a tangent from a point A at distance 5 cm from the centre of
the circle of radius 3 cm is x cm. Then the value of x is

11.U% g #1 & fogait w0 gfcese el arell 3@m
el ST & |

11.A line intersecting a circle in two points is called

12. SFH-3T] 0 9T g, sind T AT 8 FadT gl (HcI/37H)

12.The value of sin 6 increases as 0 increases.(True /False)

1+tan?
"1+cot?

(a) sec? (b) -1 (c) cot? A (d)tan?

1431 sinO-cosO=0, dT 0 T AT &

(a) 30° (b) 450 (c) 90° (d)o°
14.1fsin® — cos B = 0, then the value of 8 is:

(a) 30° (b) 45° (c) 90° (d)0°
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15. 12T 39 TR & MY @ ST W T g 1 3HaedleT HoT 30°
gl el & MY & foig &r gt &
(a) 12m (b)24m (c)6m (d)12v/3m

15.The angle of depression of a point on the ground from the top of tower 12m
high is 30°.The distance of the point from the top of the tower is :

(@) 12m (b)24m (c)ém (d)12v/3 m

16. 6 QHY AT dTel Teh e & Teh AeIWS H1 190, Il Heaws
T HIUT 60° g, gl

16. The area of a sector of a circle with radius 6 cm if angle of the sector is
60°is

17.21 @Y ST dlel Teh e #, Ueh AT chg W 60° 3T 10T ATl o
ar Ig &Y oes 2|

17. In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.
Then the length of the arc 1s

18.91@l & IS & e W, & TEITT YIed @iy hT FIideshdr a1 &
fSeTenT AT 10 &7

@) 3 (b) ¢ ©) 1 (d)

Al

18.In a throw of pair of dice ,what is the probability of getting two numbers
whose sum is 10?

@z ®: ©5 (@7
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geaT 19 31T 20 & forw feem fAder: uest @war 19 31 20 H, 31f@wuaT (A) F
d1¢ Th(R) I HUA B (a), (b), () IR (d) H & FET Tdehed Yot ST o =Ty
fearmr g:

(a) 31TAFUA (A) 3R TFH (R) AT TEE 3R TdH (R), 31fRFUT (A) Fr T
SITEAT T B

(b) TTHPUT (A) IR TH (R) T Tar g IR d& (R), ATARTA(A) &7 Fer
STEAT AgT ¢

(c) AP (A) HET 8, To] Tk (R) ) Tl &

(d) 3TTRPYT (A) I 8, ] Teh (R) FET &1

19.37fAFY(A): AT &Y AT 7 31T 27:8 & 3T H §, AN 3T I8
8T 3:2 3 TN H ¢

T(R): TNT T ITATT =S 11r; Y T IO &1 = 47ir?

20. HFHRUT: TS TRERAT Se=T HT ATEIR 3R Tgersh HAM: 150 3R 154 %,
Al ST ATET 148 B

TH(R): TRART Scof &l ATEY, ATETS AR g T ,

a§a$=3mw-2m'zr$wﬁm?-r§|
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Direction for Questions 19 & 20: In question numbers 19 and 20, a statement
of Assertion(A) is followed by a statement of Reason(R).Choose the correct
options from (a),(b),(c) and (d) as given below:

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not correct
explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19.Assertion: If the volume of two spheres are in the ratio 27:8,then their
surface areas are in the ratio 3:2.

2

Reason:Volume of a sphere = 3:surface area of a sphere = 4

w| s

20. Assertion:If the median and mode of a frequency distribution are 150 and
154 respectively,then its mean 1s 148.

Reason:Mean ,median and mode of a frequency distribution are related as
mode = 3median- 2 mean.

gus -g
SECTION-B
GUs-g@ H 23FT & 57A g
Section B consists of S questions of 2 marks each.

21.p% 8 A & fov feafafad Y@s aeeor 3o & 3aRfAd
O 31 gel gl

(p-3)x+3y=p

pxtpy =12
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21.For what value of p will the following pair of linear equations have
infinitely many solutions.

(p-3)x+3y=p

pxtpy =12

OR
21.x AR y& faT g &
x =2y-1; 2x+3y =12
21. Solve for x and y:
x =2y-1; 2x+3y =12

22. T3t (- 3,10) 3R (6, - 8) T fAT aTel Y@RAS &I fog (- 1, 6)
o 3gurd & TSI X g1 98 3g9d A1 HfST

22. Find the ratio in which the line segment joining the points (— 3, 10) and

(6, — 8) is divided by (— 1, 6).

23. APQR &I T3 PR3N QR W SR T3H IR fog & fh

P= RTSgl fe@w f& A RPQ~ARTS.

23.S and T are points on sides PR and QR of A PQR such that P= RTS.
Show that A RPQ ~ A RTS.
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24. 9f& sin(A-B)= %3—ﬁT cos(A+B)= 1 ;

0°<A+B<90"; A>  drA3R BATHAT|

24. If sin(A-B)= %and cos(A+B)= 12 : 0'<A+B< 90" ;A > |
3gdar

24. F9ST ABC#, ST B TR FHHI0T §, A% tan A=

sin A cos C + cos A sin C &l HlT ATd HITST

24. In triangle ABC, right-angled at B, if tan A = % then

find the value of: sin A cos C + cos A sin C

25. U °3l A1 fAsAe &1 g A1 orarg 14 JHA 8. A H g3 c@nrr 5

fAste # g Far 1T &F%d AT S

25. The length of the minute hand of a clock is 14 cm. Find the area swept by
the minute hand in 5 minutes.

Uz T
SECTION-C
QUS -7 H 3 AT &F 6 T ¢l

Section C consists of 6 questions of 3 marks each.

26.facy AT & V3w 3aRAT g B

26.Prove that /3 is an irrational number.

12
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27.0% AU SEUG SN TSI Th rah 8% 3R eI F
IUTAB -56 &

27.Form a quadratic polynomial whose one zero is 8 and the product of zeroes
is -56.

28. I 3T HI Teh AT & 3l HI AT 9 &1 FTY 8T, S T&IT FT Al
9T, 3Pl o he I Jelcadl T WTCT HEAT HT SHAT ¢ IFEAT AT |

28. The sum of the digits of a two-digit number is 9. Also, nine times this
number is twice the number obtained by reversing the order of the digits. Find
the number.

AYar
OR

28. Teh TTAMT T U A 3R B 100 et gT 81 U & @7F # Th
HR AY 3R @A BE YR gl &1 Il PR 3T-376097 a1fd & U
gl feem & Torcly 8, a1 @ s8¢ A fAeld g1 Ifg 9 Teh gal i 3N
I HIdr T @ 18 H R & St R fr afay =2 @

28. Places A and B are 100 km apart on a highway. One car starts from A and
another from B at the same time. If the cars travel in the same direction at

different speeds, they meet in 5 hours. If they travel towards each other, they
meet in 1 hour. What are the speeds of the two cars?

29.y-3187 W T fog @it st g A6, 5) 3R B(-4,3).
¥ gAE gt R &I & |

29. Find a point on the y-axis which is equidistant from the points A(6, 5) and

B(- 4, 3).
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30. facy hfST & Vsec? 6 + cosec? 6 = tand + cotd

30.Prove that V'sec? 8 + cosec? 6 = tan@ + cotd

AYar
OR

30.64GAHT cosec? A = 1 + cot? A AT hieh FAeY HIfaiv o

COSA—sinA+1

= +
—Arona_L — COSECA + COtA

A—sinA+1 : : .
30.Prove that ———""~ = cosecA + COt A, using the identity
cosA+sinA—1

cosec2A =1+ cot?’A

31. 1.5 #eX e Ueh ofSehl 30 HleX Sl SARA & $ gl W TT ¢
S-S 98 SARA I 3R Toldl &, 3T AEl & SART & AN d&
3oodel PIOT 30°H 60° dh §¢ SIdT gl IATd HISC foh a8 SART Fr
3R fhcet gdr T Term|

31. A 1.5 m tall boy is standing at some distance from a 30 m tall building. The
angle of elevation from his eyes to the top of the building increases from 30° to
60° as he walks towards the building. Find the distance he walked towards the
building.

gus-g

Section —D

Section D consists of 4 questions of 5 marks each.
YUs-g H 537 F 49 &
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32. AP & 49 31T 83 Uel T I9T 24§ 3R 6d 31 103 USh 1 IN9T 44
gl AP & Ugel died 9g Id I

32. The sum of the 4th and 8th terms of an AP 1s 24 and the sum of the 6th and
10th terms is 44. Find the first three terms of the AP.

33. T FA9ST ABC Y 8T AB 3R BC 3R ATCIHT AD ARl $aMait
PQ 3R QR 31X A PQR &1 AT PM & FARIURCH & (I ¢@)|
fe@re f& A ABC ~ A PQR.

A “\
\H- A
X y i
N . . .
\ /X
el % f \
B m { 0 W s 1

33. Sides AB and BC and median AD of a triangle ABC are respectively
proportional to sides PQ and QR and median PM of A PQR (see Fig. ). Show
that A ABC ~ A PQR.

34. TS I[N ST H 3HRT ATAT I SIS 30% cIeh el T AT
BT &1 AT hITSTT b 45 I[eITe SIHeAT & ofaTefaT fehclell =mereir foera,
Yl & TR T ffeisy o § [ras & refanerer R § e
das 5 AT 3R I 2.8 9T £ (R &)

15
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34. A gulab jamun, contains sugar syrup up to about 30% of its volume. Find
approximately how much syrup would be found in 45 gulab jamuns, each
shaped like a cylinder with two hemispherical ends with length 5 cm and
diameter 2.8 cm (see Fig. ).

AYdar
OR

Wi T 38F SeATG & 3TN & §F H Teh Tolgel T (oleg) e,
O WX 3madSie §T & FIg T g1 AT dg 56 JUed $hdld &
AT ATEAT ATl oeg T AP & HHR & § fFah FW Tk e &
(R ¢¥)| R oleg & a1 5@ § 3R = 3.5 g1 98 &%l
A AT o 38 T B (= )

Rasheed got a playing top (lattu) as his birthday present, which surprisingly had
no colour on it. He wanted to colour it with his crayons. The top is shaped like a
cone surmounted by a hemisphere (see Fig .). The entire top is 5 cm in height
and the diameter of the top is 3.5 cm. Find the area he has to colour.

(Take m = 2—72 )
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35..gf¢ A fow 1T e T AETS 28.58, aAF x 3R yFT AT AT
AT

35. If the median of the distribution given below is 28.5, find the values of x
andy.

Class interval Frequency
g 37Tl IRERAT
0-10 5
10-20 X
20-30 20
30-40 15
40-50 y
50-60 5
Total 60
AYdar
OR

35. 50 &Y IS il Tk Salleh F 25 BRI & Aol I &fleh <O &l
geftdr &1

AGE U 100 - 150 | 150 - 200 | 200 - 250 | 250 - 300 | 300 - 350
( #)

ofRart # F&ar| ¢ 5 12 2 2

U 39 fAf g@anr sl 9X g3 ATy a1 hfrel

35. The table below shows the daily expenditure on food of 25 households in a
locality.

17
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Daily expenditure | 100 - 150 | 150 - 200 | 200 - 250 | 250 - 300 | 300 - 350
(in Rs)

Number of 4 5 12 2 2

households

Find the mean daily expenditure on food by a suitable method.

Case study based questions

Yus-g

Section-E

36.Teh A St & I1fd 20 fhe/eer §. 15 fhell dr gt a7 == &

AT AT URT & 3HeJhel ST T Jolell H URT & el STl H 1 €T

38 o)

3WIFd IATAPRT & IR W Feafaf@d 9241 & 3R SIfo:
(i) AT YR HT aIfT x fhAl/Eer &, d URT & ideher Al A $r aifa

AT HIfoTU|

(ii) 91T, g 3R FAT & = FAT Y §?

(iil)eTRT 1 91T & fAIT gfaard FHRIOT A HITAT|

ar

(iii)¥TRT r a1fa &7 § 2

Downloaded from cclchapter.com

18

(1
(1
)

)



DOWHETREAM ) UFSTREAM [b]

& A
[ - A
Aﬁm ol Baat \
Direction of Stream rection of Stream

36.The speed of a motor boat is 20km/h. For covering the distance of 15km ,the
boat took 1 hour more for upstream than downstream.
Based on the above information ,answer the following questions:

(1) Let speed of the stream be x km/h,then find the speed of the motor boat in

upstream. (1)
(i1))What is the relation between speed,distance and time? (1)
(i11)Find the quadratic equation for the speed of the current. (2)
OR

(111)What is the speed of the current? (2)

37.F%heT Wel AATT o BET AR FAANRAT & v el fGaq &-2¢€ &
foT ool BT = & AT 4 o F1 T3 Far e B3esa /&
A QU 910 37ER g1 fev aw &y #, &g O arell Teh g AABCH 50
9o 3ifehct & T Ig 33T AB.BC 3R CA &I shaer: fdg DENR F
TR YL FAT & S[eT3T ABBC 3R CA HI oIaTg haer: 12 JHT, 8 FAT
3R 10 @+ B

IRFT ISR & IR W FAeafaf@d geat & 381 e

(i) AD &I ol€T8 AT HIfAT] (1)
(i)BD &Fr Fa15 AT FHIfT] (1)
(iii)CF ST a8 3R AOAB & &19%el Td Y )

a1
(iii) AABC &T &19%el JTd HIfSIT] )
19
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Y ey

37.The school sports committee selected 4 students to design logo for sports day
T-shirts for students and staff. The logo design is as given in the figure.In the
given figure,a circle with centre O is inscribed in a AABC such that it touches
the sides AB,BC and CA at points D,E and F respectively.The length of sides
AB,BC and CA are 12cm,8cm and 10cm respectively.

Based on the above information ,answer the following questions:

(1)Find the length of AD. (1)
(i1)Find the length BD. (1)
(i11)Find the length of CF and area of AOAB (2)

OR
(ii1) Find the area of AABC . (2)
20
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38.Ush TTAgd Silal 39«7 9RER & 1Y arer Wl 8T AT| 3 H 52
w &1 afE 3aF oS 7 vE qar Reprer|
3UAFT SATARRT & YR W Feafaf@d 9251 & 307 e

(1)eITeT 3T T S1E2ME Heled T gikear Ad Hifav| (1)

(i) " @18 Ada Fr REwar g fifaw] (1)

(iii) ITeT T I[eIH fATT dr IRASAT AT FST )
AT

(iii) @ITeT LT &7 B FI5 Ao H1 IiRkewar Ad Hifav] )

-

38.0n a weekend Joni was playing cards with his family. The deck has 52 cards.
If his brother drew one card.

Based on the above information ,answer the following questions:

(1)Find the probability of getting a king of red colour. (1)

(i1) Find the probability of getting a face card. (1)

(ii1) Find the probability of getting a jack of hearts (2)
OR

(i11) Find the probability of getting a red face card. (2)
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